
PART I – REPORTING STANDARDS
Question 1 – HKAS 16, HKFRS 13, HKAS 37 and HKFRS 5
(a)
Key, a public limited company, is concerned about the reduction in the general availability of credit and the sudden tightening of the conditions required to obtain a loan from banks. There has been a reduction in credit availability and a rise in interest rates. It seems as though there has ceased to be a clear relationship between interest rates and credit availability, and lenders and investors are seeking less risky investments. The directors are trying to determine the practical implications for the financial statements particularly because of large write downs of assets in the banking sector, tightening of credit conditions, and falling sales and asset prices. They are particularly concerned about the impairment of assets and the market inputs to be used in impairment testing. They are afraid that they may experience significant impairment charges in the coming financial year. They are unsure as to how they should test for impairment and any considerations which should be taken into account.
Required:

Discuss the main considerations that the company should take into account when impairment testing non-current assets in the above economic climate.
(8 marks)

Professional marks will be awarded in part (a) for clarity and expression.
(2 marks)
(b)
There are specific assets on which the company wishes to seek advice. The company holds certain non-current assets, which are in a development area and carried at cost less depreciation. These assets cost $3 million on 1 June 2008 and are depreciated on the straight-line basis over their useful life of five years. An impairment review was carried out on 31 May 2009 and the projected cash flows relating to these assets were as follows:
	Year to
	31 May 2010
	31 May 2011
	31 May 2012
	31 May 2013

	Cash flows ($000)
	280
	450
	500
	550


The company used a discount rate of 5%. At 30 November 2009, the directors used the same cash flow projections and noticed that the resultant value in use was above the carrying amount of the assets and wished to reverse any impairment loss calculated at 31 May 2009. The government has indicated that it may compensate the company for any loss in value of the assets up to 20% of the impairment loss.
Key holds a non-current asset, which was purchased for $10 million on 1 December 2006 with an expected useful life of 10 years. On 1 December 2008, it was revalued to $8·8 million. At 30 November 2009, the asset was reviewed for impairment and written down to its recoverable amount of $5·5 million.
Key committed itself at the beginning of the financial year to selling a property that is being under-utilised following the economic downturn. As a result of the economic downturn, the property was not sold by the end of the year. The asset was actively marketed but there were no reasonable offers to purchase the asset. Key is hoping that the economic downturn will change in the future and therefore has not reduced the price of the asset.
Required:
Discuss with suitable computations, how to account for any potential impairment of the above non-current assets in the financial statements for the year ended 30 November 2009.

(15 marks)
Note: The following discount factors may be relevant

	Year 1
	0.9524

	Year 2
	0.9070

	Year 3
	0.8638

	Year 4
	0.8227



(Total 25 marks)


(ACCA P2 Corporate Reporting December 2009 Q2)

Question 2 – HKAS 36, HKAS 37, HKAS 10, HKFRS 5, HKAS 18 and HKAS 40
Ashlee, a public limited company, is preparing its group financial statements for the year ended 31 March 2005. The company applies newly issued HKFRSs at the earliest opportunity. The group comprises three companies, Ashlee, the holding company, and its 100% owned subsidiaries Pilot and Gibson, both public limited companies. The group financial statements at first appeared to indicate that the group was solvent and in a good financial position. However, after the year end, but prior to the approval of the financial statements mistakes have been found which affect the financial position of the group to the extent that loan covenant agreements have been breached.
As a result the loan creditors require Ashlee to cut its costs, reduce its operations and reorganise its activities. Therefore, redundancies are planned and the subsidiary, Pilot, is to be reorganised. The carrying value of Pilot’s net assets, including allocated goodwill, was $85 million at 31 March 2005, before taking account of reorganization costs. The directors of Ashlee wish to include $4 million of reorganisation costs in the financial statements of Pilot for the year ended 31 March 2005. The directors of Ashlee have prepared cash flow projections which indicate that the net present value of future net cash flows from Pilot is expected to be $84 million if the reorganisation takes place and $82 million if the reorganisation does not take place.
Ashlee had already decided prior to the year end to sell the other subsidiary, Gibson. Gibson will be sold after the financial statements have been signed. The contract for the sale of Gibson was being negotiated at the time of the preparation of the financial statements and it is expected that Gibson will be sold in June 2005.
The carrying amounts of Gibson and Pilot including allocated goodwill were as follows at the year end:
	
	Gibson
	Pilot

	
	$m
	$m

	Goodwill
	30
	5

	Property, plant and equipment – cost
	120
	55

	– valuation
	180
	

	Inventory
	100
	20

	Trade receivables
	40
	10

	Trade payables
	(20)
	(5)

	
	450
	85


The fair value of the net assets of Gibson at the year end was $415 million and the estimated costs of selling the company were $5 million.
Part of the business activity of Ashlee is to buy and sell property. The directors of Ashlee had signed a contract on 1 March 2005 to sell two of its development properties which are carried at the lower of cost and net realisable value under HKAS 2 ‘Inventories’. The sale was agreed at a figure of $40 million (carrying value $30 million). A receivable of $40 million and profit of $10 million were recognised in the financial statements for the year ended 31 March 2005. The sale of the properties was completed on 1 May 2005 when the legal title passed. The policy used in the prior year was to recognise revenue when the sale of such properties had been completed.
Additionally, Ashlee had purchased, on 1 April 2004, 150,000 shares of a public limited company, Race, at a price of $20 per share. Ashlee had incurred transaction costs of $100,000 to acquire the shares. The company is unsure as to whether to classify this investment as ‘available for sale’ or ‘at fair value through profit and loss’ in the financial statements for the year ended 31 March 2005. The quoted price of the shares at 31 March 2005 was $25 per share. The shares purchased represent approximately 1% of the issued share capital of Race and are not classified as ‘held for trading’.
There is no goodwill arising in the group financial statements other than that set out above.
Required:
Discuss the implications, with suitable computations, of the above events for the group financial statements of Ashlee for the year ended 31 March 2005.
(25 marks)

(ACCA 3.6 Advanced Corporate Reporting June 2005 Q3)
Question 3 – (HKAS 36, HKAS 37, HKFRS 3, HKAS 10 and HKAS 38)
Prochain, a public limited company, operates in the fashion industry and has a financial year end of 31 May 2006. The company sells its products in department stores throughout the world. Prochain insists on creating its own selling areas within the department stores which are called ‘model areas’. Prochain is allocated space in the department store where it can display and market its fashion goods. The company feels that this helps to promote its merchandise. Prochain pays for all the costs of the ‘model areas’ including design, decoration and construction costs. The areas are used for approximately two years after which the company has to dismantle the ‘model areas’. The costs of dismantling the ‘model areas’ are normally 20% of the original construction cost and the elements of the area are worthless when dismantled. The current accounting practice followed by Prochain is to charge the full cost of the ‘model areas’ against profit or loss in the year when the area is dismantled. The accumulated cost of the ‘model areas’ shown in the balance sheet at 31 May 2006 is $20 million. The company has estimated that the average age of the ‘model areas’ is eight months at 31 May 2006.

(7 marks)
Prochain acquired 100% of a sports goods and clothing manufacturer, Badex, a private limited company, on 1 June 2005. Prochain incurred legal fees of $2 million in respect of the acquisition. Prochain intends to develop its own brand of sports clothing which it will sell in the department stores. The shareholders of Badex valued the company at $125 million based upon profit forecasts which assumed significant growth in the demand for the ‘Badex’ brand name. Prochain had taken a more conservative view of the value of the company and estimated the fair value to be in the region of $108 million to $120 million of which $20 million relates to the brand name ‘Badex’. Prochain is only prepared to pay the full purchase price if profits from the sale of ‘Badex’ clothing and sports goods reach the forecast levels. The agreed purchase price was $100 million plus two potential further payments. The first being $10 million in two years on 31 May 2007. This is a guaranteed payment of $10 million in cash with no performance conditions. The second payment is contingent on certain profits target being met. At the date of acquisition it was assessed that the fair value of such consideration was $5 million.
(8 marks)
After the acquisition of Badex, Prochain started developing its own sports clothing brand ‘Pro’. The expenditure in the period to 31 May 2006 was as follows:
	Period from
	Expenditure type
	$m

	1 June 2005 – 31 August 2005
	Research as to the extent of the market
	3

	1 September 2005
	Prototype clothing and goods design
	4

	1 December 2005 – 31 January 2006
	Employee costs in refinement of products
	2

	1 February 2006 – 30 April 2006
	Development work undertaken to finalise design of product
	5

	1 May 2006 – 31 May 2006
	Production and launch of products
	6

	
	
	20


The costs of the production and launch of the products include the cost of upgrading the existing machinery ($3 million), market research costs ($2 million) and staff training costs ($1 million).

Currently an intangible asset of $20 million is shown in the financial statements for the year ended 31 May 2006.
(6 marks)
Prochain owns a number of prestigious apartments which it leases to famous persons who are under a contract of employment to promote its fashion clothing. The apartments are let at below the market rate. The lease terms are short and are normally for six months. The leases terminate when the contracts for promoting the clothing terminate. Prochain wishes to account for the apartments as investment properties with the difference between the market rate and actual rental charged to be recognised as an employee benefit expense.
(4 marks)
Assume a discount rate of 5.5% where necessary.

Required:

Discuss how the above items should be dealt with in the financial statements of Prochain for the year ended 31 May 2006 under International Financial Reporting Standards.
(25 marks)

(Adapted ACCA 3.6 Advanced Corporate Reporting June 2006 Q4)
Question 4 – HKAS 38, HKAS 36 and HKFRS 9

Scramble, a public limited company, is a developer of online computer games.
(a)
At 30 November 2011, 65% of Scramble’s total assets were mainly represented by internally developed intangible assets comprising the capitalised costs of the development and production of online computer games. These games generate all of Scramble’s revenue. The costs incurred in relation to maintaining the games at the same standard of performance are expensed to the statement of comprehensive income. The accounting policy note states that intangible assets are valued at historical cost. Scramble considers the games to have an indefinite useful life, which is reconsidered annually when the intangible assets are tested for impairment. Scramble determines value in use using the estimated future cash flows which include maintenance expenses, capital expenses incurred in developing different versions of the games and the expected increase in revenue resulting from the above mentioned cash outflows. Scramble does not conduct an analysis or investigation of differences between expected and actual cash flows. Tax effects were also taken into account.
(7 marks)
(b)
Scramble has two cash generating units (CGU) which hold 90% of the internally developed intangible assets. Scramble reported a consolidated net loss for the period and an impairment charge in respect of the two CGUs representing 63% of the consolidated profit before tax and 29% of the total costs in the period. The recoverable amount of the CGUs is defined, in this case, as value in use. Specific discount rates are not directly available from the market, and Scramble estimates the discount rates, using its weighted average cost of capital. In calculating the cost of debt as an input to the determination of the discount rate, Scramble used the risk-free rate adjusted by the company specific average credit spread of its outstanding debt, which had been raised two years previously. As Scramble did not have any need for additional financing and did not need to repay any of the existing loans before 2014, Scramble did not see any reason for using a different discount rate. Scramble did not disclose either the events and circumstances that led to the recognition of the impairment loss or the amount of the loss recognised in respect of each cash-generating unit. Scramble felt that the events and circumstances that led to the recognition of a loss in respect of the first CGU were common knowledge in the market and the events and the circumstances that led to the recognition loss of the second CGU were not needed to be disclosed.
(7 marks)
(c)
Scramble wished to diversify its operations and purchased a professional football club, Rashing. In Rashing’s financial statements for the year ended 30 November 2011, it was proposed to include significant intangible assets which related to acquired players’ registration rights comprising registration and agents’ fees. The agents’ fees were paid by the club to players’ agents either when a player is transferred to the club or when the contract of a player is extended. Scramble believes that the registration rights of the players are intangible assets but that the agents fees do not meet the criteria to be recognised as intangible assets as they are not directly attributable to the costs of players’ contracts. Additionally, Rashing has purchased the rights to 25% of the revenue from ticket sales generated by another football club, Santash, in a different league. Rashing does not sell these tickets nor has any discretion over the pricing of the tickets. Rashing wishes to show these rights as intangible assets in its financial statements. 
(9 marks)
Required:
Discuss the validity of the accounting treatments proposed by Scramble in its financial statements for the year ended 30 November 2011.
The mark allocation is shown against each of the three accounting treatments above.

Professional marks will be awarded for clarity and expression of your discussion.
(2 marks)


(25 marks)

(ACCA P2 Corporate Reporting December 2011 Q3)
Question 5 – HKFRS 5
Rockby, a public limited company, has committed itself before its year-end of 31 March 2004 to a plan of action to sell a subsidiary, Bye. The sale is expected to be completed on 1 July 2004 and the financial statements of the group were signed on 15 May 2004. The subsidiary, Bye, a public limited company, had net assets at the year end of $5 million and the book value of related goodwill is $1 million. Bye has made a loss of $500,000 from 1 April 2004 to 15 May 2004 and is expected to make a further loss up to the date of sale of $600,000. Rockby was at 15 May 2004 negotiating the consideration for the sale of Bye but no contract has been signed or public announcement made as of that date.
Rockby expected to receive $4·5 million for the company after selling costs. The value-in-use of Bye at 15 May 2004 was estimated at $3·9 million.
Further the non-current assets of Rockby include the following items of plant and head office land and buildings:
(i)
Tangible non-current assets held for use in operating leases: at 31 March 2004 the company has at carrying value $10 million of plant which has recently been leased out on operating leases. These leases have now expired. The company is undecided as to whether to sell the plant or lease it to customers under finance leases. The fair value less selling costs of the plant is $9 million and the value-in-use is estimated at $12 million.
Plant with a carrying value of $5 million at 31 March 2004 has ceased to be used because of a downturn in the economy. The company had decided at 31 March 2004 to maintain the plant in workable condition in case of a change in economic conditions. Rockby subsequently sold the plant by auction on 14 May 2004 for $3 million net of costs.
(ii)
The Board of Rockby approved the relocation of the head office site on 1 March 2003. The head office land and buildings were renovated and upgraded in the year to 31 March 2003 with a view to selling the site. During the improvements, subsidence was found in the foundations of the main building. The work to correct the subsidence and the renovations were completed on 1 June 2003. As at 31 March 2003 the renovations had cost $2·3 million and the cost of correcting the subsidence was $1 million. The carrying value of the head office land and buildings was $5 million at 31 March 2003 before accounting for the renovation. Rockby moved its head office to the new site in June 2003 and at the same time, the old head office property was offered for sale at a price of $10 million.
However, the market for commercial property had deteriorated significantly and as at 31 March 2004, a buyer for the property had not been found. At that time the company did not wish to reduce the price and hoped that market conditions would improve. On 20 April 2004, a bid of $8·3 million was received for the property and eventually it was sold (net of costs) for $7·5 million on 1 June 2004. The carrying value of the head office land and buildings was $7 million at 31 March 2004.
Non-current assets are shown in the financial statements at historical cost.
Required:

(a)
Discuss the way in which the sale of the subsidiary, Bye, would be dealt with in the group financial statements of Rockby at 31 March 2004 under HKFRS 5 Non-current assets held for sale and discontinued operations.
(8 marks)

(b)
Discuss whether the following non-current assets would be classed as held for sale if HKFRS 5 had been applied to:

(i)
the items of plant in the group financial statements at 31 March 2004;



(7 marks)

(ii)
the head office land and buildings in the group financial statements at 31 March 2003 and 31 March 2004.
(5 marks)



(Total 20 marks)


(Amended ACCA 3.6 Advanced Corporate Reporting June 2004 Q4)

Question 6 – HKAS 38 and HKAS 37

Lockfine, a public limited company, operates in the fishing industry and has recently made the transition to Hong Kong Financial Reporting Standards (HKFRS). Lockfine’s reporting date is 30 April 2011.
(a)
Lockfine has internally developed intangible assets comprising the capitalised expenses of the acquisition and production of electronic map data which indicates the main fishing grounds in the world. The intangible assets generate revenue for the company in their use by the fishing fleet and are a material asset in the statement of financial position. Lockfine had constructed a database of the electronic maps. The costs incurred in bringing the information about a certain region of the world to a higher standard of performance are capitalised. The costs related to maintaining the information about a certain region at that same standard of performance are expensed. Lockfine’s accounting policy states that intangible assets are valued at historical cost. The company considers the database to have an indefinite useful life which is reconsidered annually when it is tested for impairment. The reasons supporting the assessment of an indefinite useful life were not disclosed in the financial statements and neither did the company disclose how it satisfied the criteria for recognising an intangible asset arising from development.
(6 marks)
(b)
The Lockfine board has agreed two restructuring projects during the year to 30 April 2011:
Plan A involves selling 50% of its off-shore fleet in one year’s time. Additionally, the plan is to make 40% of its seamen redundant. Lockfine will carry out further analysis before deciding which of its fleets and related employees will be affected. In previous announcements to the public, Lockfine has suggested that it may restructure the off-shore fleet in the future.
Plan B involves the reorganisation of the headquarters in 18 months time, and includes the redundancy of 20% of the headquarters’ workforce. The company has made announcements before the year end but there was a three month consultation period which ended just after the year end, whereby Lockfine was negotiating with employee representatives. Thus individual employees had not been notified by the year end.
Lockfine proposes recognising a provision in respect of Plan A but not Plan B.
(5 marks)
Required:
Discuss the principles and practices to be used by Lockfine in accounting for the above valuation and recognition issues.

(ACCA P2 Corporate Reporting June 2011 Q2(c) & (d))
Question 7 – HKFRS 13
HKICPA issued HKFRS 13 Fair Value Measurement in 2011 and this is likely to be relevant to entities who prepare financial statements which include the impact of measurements based upon fair value.

Required:

(a)
Explain why the HKICPA has introduced HKFRS 13 Fair Value Measurement.
(5 marks)

(b)
Explain how fair value is to be determined in accordance with HKFRS 13.
(15 marks)

(c)
Explain the nature of the supporting disclosures required by HKFRS 13.
(5 marks)



(Total 25 marks)
Question 8 – HKFRS 13

Financial statements have seen an increasing move towards the use of fair values in accounting. Advocates of ‘fair value accounting’ believe that fair value is the most relevant measure for financial reporting whilst others believe that historical cost provides a more useful measures. Issues have been raised over the reliability and measurement of fair values, and over the nature of the current level of disclosure in financial statements in this area.

In 2011, HKICPA published HKFRS 13 Fair Value Measurement, which sets out to define fair value in a single framework for measuring fair value and require disclosure about fair value measurements.

Required:
(a)
Discuss the view that fair value is a more relevant measure to use in corporate reporting than historical cost.
(12 marks)
(b)
Discuss the main changes introduced by HKFRS 13 Fair Value Measurement.
(9 marks)

(c)
Fairview holds shares in Greenfield, which it treats as an equity instrument (a financial asset). Sale of this financial asset is restricted by contract to qualifying investors.
How would the fair value of this instrument be measured?
(4 marks)



(25 marks)
Question 9 – HKAS 8, HKAS 23, HKAS 37 and HKAS 1

Gear Software, a public limited company, develops and sells computer games software. The revenue of Gear Software for the year ended 31 May 2003 is $5 million, the balance sheet total is $4 million and it has 40 employees. There are several elements in the financial statements for the year ended 31 May 2003 on which the directors of Gear require advice.
(i)
Gear has two cost centres relating to the development and sale of the computer games. The indirect overhead costs attributable to the two cost centres were allocated in the year to 31 May 2002 in the ratio 60:40 respectively. Also in that financial year, the direct labour costs and attributable overhead costs incurred on the development of original games software were carried forward as work-in-progress and included with the balance sheet total for inventory of computer games. Inventory of computer games includes directly attributable overheads. In the year to 31 May 2003, Gear has allocated indirect overhead costs in the ratio 50:50 to the two cost centres and has written the direct labour and overhead costs incurred on the development of the games off to the income statement. Gear has stated that it cannot quantify the effect of this write off on the current year‘s income statement. Further, it proposes to show the overhead costs relating to the sale of computer games within distribution costs. In prior years these costs were shown in cost of sales.
(9 marks)
(ii)
In prior years, Gear has charged interest incurred on the construction of computer hardware as part of cost of sales. It now proposes to( capitalise such interest and to (change the method of depreciation from the straight-line method over four years to the reducing balance method at 30% per year. (Depreciation will now be charged as cost of sales rather than administrative expenses as in previous years. Gear currently (recognises revenue on contracts in proportion to the progression and activity on the contract. The normal accounting practice within the industrial sector is to recognise revenue when the product is shipped to customers. The effect of any (change in accounting policy to bring the company in line with accounting practice in the industrial sector would be to increase revenue for the year by $500,000.
(6 marks)
The directors have requested advice on the changes in accounting practice for inventories and tangible non-current assets that they have proposed.
(iii)
In relation to a failed acquisition, a firm of accountants has invoiced Gear for the sum of $300,000. (Gear has paid $20,000 in full settlement of the debt and states that this was a reasonable sum for the advice given and is not prepared to pay any further sum. The accountants are pressing for payment of the full amount but on the advice of its solicitors, Gear is not going to settle the balance outstanding. (Additionally Gear is involved in a court case concerning the plagiarism of software. Another games company has accused Gear of copying their games software and currently legal opinion seems to indicate that Gear will lose the case. Management estimates that the most likely outcome will be a payment of costs and royalties to the third party of $1 million in two years’ time (approximately). The best case scenario is deemed to be a payment of $500,000 in one year’s time and the worst case scenario that of a payment of $2 million in three years’ time. These scenarios are based on the amount of the royalty payment and the potential duration and costs of the court case. Management has estimated that the relative likelihood of the above payments are best case – 30% chance, most likely outcome – 60% chance, and worst case – 10% chance of occurrence. The directors are unsure as to whether any provision for the above amounts should be made in the financial statements.
(7 marks)
(iv)
In the event of the worst case scenario occurring, the directors of Gear are worried about the viability of their business as the likelihood would be that current liabilities would exceed current assets and it is unlikely that in the interim period there will be sufficient funds generated from operational cash flows.
(3 marks)
The discount rate for any present value calculations is 5%.
Required:

Write a report to the directors of Gear Software explaining the implications of the above information contained in paragraphs (i) – (iv) for the financial statements.
(25 marks)


(ACCA 3.6 Advanced Corporate Reporting June 2003 Q3)
Question 10 – HKAS 39 and HKFRS 9
Ambush, a public limited company, is assessing the impact of implementing the revised HKAS 39 ‘Financial Instruments: Recognition and Measurement’ and HKFRS 9 ‘Financial Instrument’. The directors realise that significant changes may occur in their accounting treatment of financial instruments and they understand that on initial recognition any financial asset or liability can be designated as one to be measured at fair value through profit or loss (the fair value option). However, there are certain issues that they wish to have explained and these are set out below.
Required:
(a)
Outline in a report to the directors of Ambush the following information:

(i)
How financial assets and liabilities are measured and classified, briefly setting out the accounting method used for each category. (Hedging relationships can be ignored.)
(10 marks)

(ii)
Why the fair value option was initially introduced and why it has caused such concern.
(5 marks)
Ambush loaned $200,000 to Bromwich on 1 December 2003. The loan is primarily held for collection of interest and capital throughout the loan term. Additionally, the cash inflows received consist solely of repayment of interest and capital. It has therefore been designated to be measured at amortised cost. The effective and stated interest rate for this loan was 8%. Interest is payable by Bromwich at the end of each year and the loan is repayable on 30 November 2007. At 30 November 2005, the directors of Ambush have heard that Bromwich is in financial difficulties and is undergoing a financial reorganization. The directors feel that it is likely that they will only receive $100,000 on 30 November 2007 and no future interest payment. Interest for the year ended 30 November 2005 had been received.

The financial year-end of Ambush is 30 November 2005.

Required:
(b)
(i)
Outline the requirements of HKAS 39 and HKFRS 9 as regards the impairment of financial assets.
(6 marks)

(ii)
Explain the accounting treatment under HKAS 39 of the loan to Bromwich in the financial statements of Ambush for the year ended 30 November 2005.
(4 marks)



(Total 25 marks)



(Amended ACCA 3.6 Advanced Corporate Reporting December 2005 Q5)

Question 11 – HKAS 39 Hedging
Artwright, a public limited company, produces artefacts made from precious metals. Its customers vary from large multinational companies to small retail outlets and mail order customers.

(i)
Derivatives are financial instruments that derive their value from the price of some underlying item. Examples of derivatives include options and futures. Derivatives can be entered at little or no cost, but must always be measured on the statement of financial position at their fair value. Whatever reason the derivatives is entered into it will transform the risk profile of the company.
Artwright has entered into three derivatives during the year ended 30 November 2004, details of which are as follows:

	
	Initial recognition of fair value
	Fair value at the year-end
	Reason

	A
	Nil
	$20m (liability)
	Artwright believes that oil prices are due to rise in the future so during the year has entered into oil futures contract to buy oil at a fixed price. Artwright has no exposure to oil prices in the course of its business. In fact, oil prices have fallen resulting in the loss at the year end.

	B
	$1m
	$9m (liability)
	Artwright has an asset that it is concerned will fall in value and it wishes to cover this risk. Thus during the year it has entered into derivative B to cover any fall in value. In fact, the asset has risen in value by $8.5 million.

	C
	Nil
	$25m (asset)
	Artwright is concerned about the potential for raw material prices to rise. It wishes to cover this risk that future costs will rise over the next two to three years. Thus it has entered into derivative C – a futures contract. At the year-end the raw material prices have risen, potentially giving the company an increased future cost of $24 million. Taking about this contract has been beneficial to Artwright.


(ii)
Artright has a mail order business. The customers pay for their goods on a loan basis over a period which varies from six months to 24 months. The average life of a loan is 12 months and the effective interest rate on the loans is 10% per annum. Most of the loans are repaid on time and of those that do not pay on time, any delay in payment is not penalised by extra interest payments. Artright currently has as at 30 November 2004 loans outstanding of $2 million (principal) on which interest of $150,000 is expected to be earned from 1 December 2004. The amounts due are $1·05 million on 31 May 2005 and $1·1 million on 30 November 2005. The company estimates that it will receive cash repayments of $1 million on 31 May 2005 and $1·04 million on 30 November 2005.
Also one of Artright’s customers had experienced financial difficulties and as at 1 December 2003, a receivable of $200,000 had been converted into a fixed interest loan of 10%. The loan was repayable over two years and at 30 November 2004, the customer had paid $100,000 to Artright. The accrued interest for the year was $16,500. Because of the continuing problems of the customer, at 30 November 2004 the loan was rescheduled over a further three years at an interest rate of 10%, and the annual repayments subsequently reduced. The management of Artright feel that the customer will be able to meet the payments under the restructured loan agreement.
(iii)
The company also trades with multi-national corporations. Artright often has cash flow problems and factors some of its trade receivables. On 1 November 2004 it sold trade receivables of $500,000 to a bank and received a cash settlement of $440,000 for these trade receivables. The portfolio of trade receivables sold is due from some of the company’s best customers who always pay their debts but are quite slow payers. Because of the low risk of default, Artright has guaranteed 12% of the balance outstanding on each receivable and the fair value of this guarantee is thought to be $12,000.
Required:

Using the principles of HKAS 39 Financial Instruments: Recognition and Measurement:

(a)
Discuss how each of the derivatives would be accounted for in the financial statements for the year ended 30 November 2004.
(10 marks)

(b)
Discuss, with suitable calculations, the potential impairment of the mail order receivables and the loan to the customer.
(10 marks)

(c)
Discuss whether the sale of the trade receivables would result in them being derecognized in the statement of financial position at 30 November 2004 and how the sale of the trade receivables would be recorded.
(5 marks)



(Total 25 marks)



(Amended ACCA 3.6 Advanced Corporate Reporting December 2004 Q3)

Question 12 – HKFRS 13, HKAS 32, HKFRS 9, HKAS 21 and HKAS 19

The directors of Aron, a public limited company, are worried about the challenging market conditions which the company is facing. The markets are volatile and illiquid. The government is injecting liquidity into the economy. The directors are concerned about the significant shift towards the use of fair values in financial statements. HKAS 39 ‘Financial Instruments: recognition and measurement’ defines fair value and requires the initial measurement of financial instruments to be at fair value. The directors are uncertain of the relevance of fair value measurements in these current market conditions.
Required:

(a)
Briefly discuss how the fair value of financial instruments is determined, commenting on the relevance of fair value measurements for financial instruments where markets are volatile and illiquid.
(4 marks)
(b)
Further they would like advice on accounting for the following transactions within the financial statements for the year ended 31 May 2009:
(i)
Aron issued one million convertible bonds on 1 June 2006. The bonds had a term of three years and were issued with a total fair value of $100 million which is also the par value. Interest is paid annually in arrears at a rate of 6% per annum and bonds, without the conversion option, attracted an interest rate of 9% per annum on 1 June 2006. The company incurred issue costs of $1 million. If the investor did not convert to shares they would have been redeemed at par. At maturity all of the bonds were converted into 25 million ordinary shares of $1 of Aron. No bonds could be converted before that date. The directors are uncertain how the bonds should have been accounted for up to the date of the conversion on 31 May 2009 and have been told that the impact of the issue costs is to increase the effective interest rate to 9·38%.
(6 marks)
(ii)
Aron held 3% holding of the shares in Smart, a public limited company. The investment was classified as available-for-sale and at 31 May 2009 was fair valued at $5 million. The cumulative gain recognised in equity relating to the available-for-sale investment was $400,000. On the same day, the whole of the share capital of Smart was acquired by Given, a public limited company, and as a result, Aron received shares in Given with a fair value of $5·5 million in exchange for its holding in Smart. The company wishes to know how the exchange of shares in Smart for the shares in Given should be accounted for in its financial records.
(4 marks)
(iii)
The functional and presentation currency of Aron is the dollar ($). Aron has a wholly owned foreign subsidiary, Gao, whose functional currency is the zloti. Gao owns a debt instrument which is held for trading. In Gao’s financial statements for the year ended 31 May 2008, the debt instrument was carried at its fair value of 10 million zloti.
At 31 May 2009, the fair value of the debt instrument had increased to 12 million zloti. The exchange rates were:
	
	Zloti to $1

	31 May 2008
	3

	31 May 2009
	2

	Average rate for year to 31 May 2009
	2.5


The company wishes to know how to account for this instrument in (Gao’s entity financial statements and the (consolidated financial statements of the group.
(5 marks)
(iv)
Aron granted interest free loans to its employees on 1 June 2008 of $10 million. The loans will be paid back on 31 May 2010 as a single payment by the employees. The market rate of interest for a two-year loan on both of the above dates is 6% per annum. The company is unsure how to account for the loan but wishes to classify the loans as ‘loans and receivables’ under HKFRS 9 ‘Financial Instruments’.


(4 marks)
Required:

Discuss, with relevant computations, how the above financial instruments should be accounted for in the financial statements for the year ended 31 May 2009.
Note: The mark allocation is shown against each of the transactions above.

Note. The following discount and annuity factors may be of use.

	
	Discount factors
	Annuity factors

	
	6%
	9%
	9.38%
	6%
	9%
	9.38%

	1 year
	0.9434
	0.9174
	0.9142
	0.9434
	0.9174
	0.9174

	2 years
	0.8900
	0.8417
	0.8358
	1.8334
	1.7591
	1.7500

	3 years
	0.8396
	0.7722
	0.7642
	2.6730
	2.5313
	2.5142


Professional marks will be awarded in question 2 for clarity and quality of discussion.

(2 marks)

(Total 25 marks)


(Adapted ACCA P2 Corporate Reporting June 2009 Q2)

Question 13 – HKFRS 9, HKAS 2, HKAS 16 and HKAS 37

Wader, a public limited company, is assessing the nature of its provisions for the year ended 31 May 2007. The following information is relevant:
(a)
The impairment of trade receivables has been calculated using a formulaic approach which is based on a specific percentage of the portfolio of trade receivables. This general provision approach has been used by the company at 31 May 2007. At 31 May 2007, one of the credit customers, Tray, has come to an arrangement with Wader whereby the amount outstanding of $4 million from Tray will be paid on 31 May 2008 together with a penalty of $100,000. The total amount of trade receivables outstanding at 31 May 2007 was $11 million including the amount owed by Tray. The following is the analysis of the trade receivables:
	
	Balance
	Cash expected
	Due date

	
	$m
	$m
	

	Tray
	4
	4.1
	31 May 2008

	Milk
	2
	2
	31 July 2007

	Other receivables
	5
	4.6
	On average 31 July 2007

	
	11
	10.7
	


Wader has made an allowance of $520,000 against trade receivables which represents the difference between the cash expected to be received and the balance outstanding plus a two per cent general allowance. Milk has a similar credit risk to the ‘other receivables’.
(7 marks)
(b)
Wader is assessing the valuation of its inventory. It has a significant quantity of a product and needs to evaluate its value for the purposes of the statement of financial position. Sales of the product are high, but it incurs high production costs. The reason for its success is that a sales commission of 20% of the list selling price is paid to the sales force. The following details relate to this product:
	
	$ per unit

	List price – normal selling price
	50

	Allocation of customer discounts on selling price
	2.5

	Warehouse overheads until estimated sale date
	4

	Basic salaries of sales team
	2

	Cost of product
	35


The product is collected from the warehouse of Wader by the customer.
(4 marks)
(c)
Wader is reviewing the accounting treatment of its buildings. The company uses the ‘revaluation model’ for its buildings. The buildings had originally cost $10 million on 1 June 2005 and had a useful economic life of 20 years. They are being depreciated on a straight line basis to a nil residual value. The buildings were revalued downwards on 31 May 2006 to $8 million which was the buildings’ recoverable amount. At 31 May 2007 the value of the buildings had risen to $11 million which is to be included in the financial statements. The company is unsure how to treat the above events.
(7 marks)
(d)
Wader has decided to close one of its overseas branches. A board meeting was held on 30 April 2007 when a detailed formal plan was presented to the board. The plan was formalised and accepted at that meeting. Letters were sent out to customers, suppliers and workers on 15 May 2007 and meetings were held prior to the year end to determine the issues involved in the closure. The plan is to be implemented in June 2007. The company wish to provide $8 million for the restructuring but are unsure as to whether this is permissible. Additionally there was an issue raised at one of the meetings. The operations of the branch are to be moved to another country from June 2007 but the operating lease on the present buildings of the branch is non-cancellable and runs for another two years, until 31 May 2009. The annual rent of the buildings is $150,000 payable in arrears on 31 May and the lessor has offered to take a single payment of $270,000 on 31 May 2008 to settle the outstanding amount owing and terminate the lease on that date. Wader has additionally obtained permission to sublet the building at a rental of $100,000 per year, payable in advance on 1 June. The company needs advice on how to treat the above under HKAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’.


(7 marks)
Required:

Discuss the accounting treatments of the above items in the financial statements for the year ended 31 May 2007.

Note: a discount rate of 5% should be used where necessary. Candidates should show suitable calculations where necessary.


(25 marks)

(ACCA 3.6 Advanced Corporate Reporting June 2007 Q2)
Question 14 – HKAS 16, HKAS 17 and HKAS 18
Carpart, a public limited company, is a vehicle part manufacturer, and sells vehicles purchased from the manufacturer. Carpart has entered into supply arrangements for the supply of car seats to two local companies, Vehiclex and Autoseat.
(i)
Vehiclex
This contract will last for five years and Carpart will manufacture seats to a certain specification which will require the (construction of machinery for the purpose. The price of each car seat has been agreed so that it (includes an amount to cover the cost of constructing the machinery but there is no commitment to a minimum order of seats to guarantee the recovery of the costs of constructing the machinery. (Carpart retains the ownership of the machinery and wishes to (recognise part of the revenue from the contract in its current financial statements to cover the cost of the machinery which will be constructed over the next year.
(4 marks)
(ii)
Autoseat
Autoseat is purchasing car seats from Carpart. The contract is to last for three years and Carpart is to design, develop and manufacture the car seats. Carpart will construct machinery for this purpose but( the machinery is so specific that it cannot be used on other contracts. Carpart maintains the machinery but the (know-how has been granted royalty free to Autoseat. The price of each car seat includes a fixed price to cover the cost of the machinery. If (Autoseat decides not to purchase a minimum number of seats to cover the cost of the machinery, then Autoseat has to repay Carpart for the cost of the machinery including any interest incurred.
(Autoseat can purchase the machinery at any time in order to safeguard against the cessation of production by Carpart. The purchase price would be the cost of the machinery not yet recovered by Carpart. The machinery has a life of three years and the seats are only sold to Autoseat who sets the levels of production for a period. Autoseat can perform a pre-delivery inspection on each seat and can reject defective seats.
(9 marks)
(iii)
Vehicle sales

Carpart sells vehicles on a contract for their market price (approximately $20,000 each) at a mark-up of 25% on cost. The expected life of each vehicle is five years. (After four years, the car is repurchased by Carpart at 20% of its original selling price. This price is expected to be significantly less than its fair value. The car must be maintained and serviced by the customer in accordance with certain guidelines and must be in good condition if Carpart is to repurchase the vehicle.
The same vehicles are also sold with an option that can be exercised by the buyer two years after sale. Under this option, (the customer has the right to ask Carpart to repurchase the vehicle for 70% of its original purchase price. It is thought that the buyers will exercise the option. At the end of two years, the fair value of the vehicle is expected to be 55% of the original purchase price. If the option is not exercised, then the buyer keeps the vehicle.
(Carpart also uses some of its vehicles for demonstration purposes. These vehicles are normally used for this purpose for an eighteen-month period. After this period, the vehicles are sold at a reduced price based upon their condition and mileage.
(10 marks)
Professional marks will be awarded in question 3 for clarity and quality of discussion.
(2 mark)

Required:

Discuss how the above transactions would be accounted for under Hong Kong Financial Reporting Standards in the financial statements of Carpart.
Note: The mark allocation is shown against each of the arrangements above.


(25 marks)

(ACCA P2 Corporate Reporting June 2009 Q3)

Question 15 – HKFRS 2, HKFRS 3 and HKAS 28
(a)
Leigh, a public limited company, purchased the whole of the share capital of Hash, a limited company, on 1 June 2006. The whole of the share capital of Hash was formerly owned by the five directors of Hash and under the terms of the purchase agreement, the five directors were to (receive a total of three million ordinary shares of $1 of Leigh on 1 June 2006 (market value $6 million) and a (further 5,000 shares per director on 31 May 2007, if they were still employed by Leigh on that date. All of the directors were still employed by Leigh at 31 May 2007.
Leigh granted and issued fully paid shares to its own employees on 31 May 2007. Normally (share options issued to employees would vest over a three year period, but these shares were given as a bonus because of the company’s exceptional performance over the period. The shares in Leigh had a market value of $3 million (one million ordinary shares of $1 at $3 per share) on 31 May 2007 and an average fair value of $2.5 million (one million ordinary shares of $1 at $2.50 per share) for the year ended 31 May 2007. It is expected that Leigh’s share price will rise to $6 per share over the next three years.
(10 marks)

(b)
On 31 May 2007, Leigh purchased property, plant and equipment for $4 million. The supplier (has agreed to accept payment for the property, plant and equipment either in cash or in shares. The( supplier can either choose 1.5 million shares of the company to be issued in six months time or to (receive a cash payment in three months time equivalent to the market value of 1.3 million shares. It is estimated that the share price will be $3.50 in three months time and $4 in six months time.
Additionally, at 31 May 2007, one of the directors recently appointed to the board has been granted the right to choose either 50,000 shares of Leigh or receive a cash payment equal to the current value of 40,000 shares at the settlement date. This right has been granted because of the performance of the director during the year and is unconditional at 31 May 2007. The settlement date is 1 July 2008 and the company estimates the fair value of the share alternative is $2.50 per share at 31 May 2007. The share price of Leigh at 31 May 2007 is $3 per share, and if the director chooses the share alternative, they must be kept for a period of four years.

(9 marks)

(c)
Leigh acquired 30% of the ordinary share capital of Handy, a public limited company, on 1 April 2006. The purchase consideration was one million ordinary shares of Leigh which had a market value of $2.50 per share at that date and the fair value of the net assets of Handy was $9 million. The retained earnings of Handy were $4 million and other reserves of Handy were $3 million at that date. Leigh appointed two directors to the Board of Handy, and it intends to hold the investment for a significant period of time. Leigh exerts significant influence over Handy. The summarised statement of financial position of Handy at 31 May 2007 is as follows:
	
	$m

	Share capital of $1
	2

	Other reserves
	3

	Retained earnings
	5

	
	10

	Net assets
	10


There had been no new issues of shares by Handy since the acquisition by Leigh and the estimated recoverable amount of the net assets of Handy at 31 May 2007 was $11 million.


(6 marks)

Required:
Discuss with suitable computations how the above share based transactions should be accounted for in the financial statements of Leigh for the year ended 31 May 2007.
(25 marks)


(ACCA 3.6 Advanced Corporate Reporting June 2007 Q3)

Question 16 – HKAS 17, HKAS 18, HKAS 37, HKFRS 2
Electron, a public limited company, operates in the energy sector. The company has grown significantly over the last few years and is currently preparing its financial statements for the year ended 30 June 2006.
Electron buys and sells oil and currently has a number of oil trading contracts. The contracts to purchase oil are treated as non-current assets and amortised over the contracts’ durations. On acceptance of a contract to sell oil, fifty per cent of the contract price is recognised immediately with the balance being recognised over the remaining life of the contract. The contracts always result in the delivery of the commodity.
(4 marks)
Electron has recently constructed an ecologically efficient power station. A condition of being granted the operating licence by the government is that the power station be dismantled at the end of its life which is estimated to be 20 years. The power station cost $100 million and began production on 1 July 2005. Depreciation is charged on the power station using the straight line method. Electron has estimated at 30 June 2006, it will cost $15 million (net present value) to restore the site to its original condition using a discount rate of five per cent. Ninety-five per cent of these costs relate to the removal of the power station and five per cent relates to the damage caused through generating energy.
(7 marks)
Electron has leased another power station which was relatively inefficient, to a rival company on 30 June 2006. The beneficial and legal ownership remains with Electron and in the event of one of Electron’s power stations being unable to produce energy, Electron can terminate the agreement. The leased power station is being treated as an operating lease with the net present value of the income of $40 million being recognised in profit or loss. The fair value of the power station is $70 million at 30 June 2006. A deposit of $10 million was received on 30 June 2006 and it is included in the net present value calculation.
(5 marks)
The company has a good relationship with its shareholders and employees. It has adopted a strategy of gradually increasing its dividend payments over the years. On 1 August 2006, the board proposed a dividend of 5c per share for the year ended 30 June 2006. The shareholders will approve the dividend along with the financial statements at the general meeting on 1 September 2006 and the dividend will be paid on 14 September 2006. The directors feel that the dividend should be accrued in the financial statements for the year ended 30 June 2006 as a “valid expectation” has been created.
(3 marks)
The company granted share options to its employees on 1 July 2005. The fair value of the options at that date was $3 million. The options vest on 30 June 2008. The employees have to be employed at the end of the three year period for the options to vest and the following estimates have been made:
Estimated percentage of employees leaving during vesting period at:
Grant date 1 July 2005
5%

30 June 2006
6% 
(4 marks)
Effective communication to the directors 
(2 marks)
Required:
Draft a report suitable for presentation to the directors of Electron which discusses the accounting treatment of the above transactions in the financial statements for the year ended 30 June 2006, including relevant calculations.
(25 marks)

(ACCA P2 Corporate Reporting Pilot Paper December 2006 Q2)

Question 17 – HKAS 17, HKAS 38, HKFRS 5, HKAS 37, HKFRS 9
Seejoy is a famous football club but has significant cash flow problems. The directors and shareholders wish to take steps to improve the club’s financial position. The following proposals had been drafted in an attempt to improve the cash flow of the club. However, the directors need advice upon their implications.

(a)
Sale and leaseback of football stadium (excluding the land element)
The football stadium is currently accounted for using the cost model in HKAS 16 ‘Property, Plant and Equipment’.

The carrying value of the stadium will be $12 million at 31 December 2012. The stadium will have a remaining life of 20 years at 31 December 2012, and the club uses straight line depreciation. It is proposed to sell the stadium to a third party institution on 1 January 2013 and lease it back under a 20 year finance lease. The sale price and fair value are $15 million which is the present value of the minimum lease payments. The agreement transfers the title of the stadium back to the football club at the end of the lease at nil cost. The rental is $1.2 million per annum in advance commencing on 1 January 2013. The directors do not wish to treat this transaction as the raising of a secured loan. The implicit interest rate on the finance in the lease is 5.6%.
(9 marks)
(b)
Players registration
The club capitalizes the unconditional amounts (transfer fees) paid to acquire players. The club proposes to amortise the cost of the transfer fees over ten years instead of the current practice which is to amortise the cost over the duration of the player’s contract. The club has sold most of its valuable players during the current financial year but still has two valuable players under contract.

	Player
	Transfer fee capitalized
	Amortisation to 31 Dec 2012
	Contract commenced
	Contract expires

	
	$m
	$m
	
	

	A. Steel
	20
	4
	1 Jan 2012
	31 Dec 2016

	R. Aldo
	15
	10
	1 Jan 2011
	31 Dec 2013


If Seejoy win the national football league, then a further $5 million will be payable to the two players’ former clubs. Seejoy are currently performing very poorly in the league.
(5 marks)
(c)
Issue of bond
The club proposes to issue a 7% bond with a face value of $50 million on 1 January 2013 at a discount of 5% that will be secured on income from future ticket sales and corporate hospitality receipts, which are approximately $20 million per annum. Under the agreement the club cannot use the first $6 million received from corporate hospitality sales and reserved tickets (season tickets) as this will be used to repay the bond. The money from the bond will be used to pay for ground improvements and to pay the wages of players.
The bond will be repayable, both capital and interest, over 15 years with the first payment of $6 million due on 31 December 2013. It has an effective interest rate of 7.7%. There will be no active market for the bond and the company does not wish to use valuation models to value the bond.
(6 marks)
(d)
Player trading
Another proposal is for the club to sell its two valuable players, Aldo and Steel. It is thought that it will receive a total of $16 million for both players. The players are to be offered for sale at the end of the current football season on 1 May 2013.
(5 marks)
Required:

Discuss how the above proposals would be dealt with in the financial statements of Seejoy for the year ending 31 December 2013, setting out their accounting treatment and appropriateness in helping the football club’s cash flow problems.

(Candidates do not need knowledge of the football finance sector to answer this question.)


(25 marks)
Question 18 – HKFRS 2 and HKAS 12
The directors of Vident, a public limited company, are reviewing the impact of HKFRS 2 ‘Share-based Payment’ on the financial statements for the year ended 31 May 2005 as they will be applying the reporting standard for the first time. However, the directors of Vident are unhappy about having to apply the standard and have put forward the following arguments as to why they should not recognise an expense for share-based payments:
i.
they feel that share options have no cost to their company and, therefore, there should be no expense charged in the income statement.

ii.
they do not feel that the expense arising from share options under HKFRS 2 actually meets the definition of an expense under the ‘Framework’ document.

iii.
the directors are worried about the dual impact of the HKFRS on earnings per share, as an expense is shown in the income statement and the impact of share options is recognised in the diluted earnings per share calculation.

iv.
they feel that accounting for share-based payment may have an adverse effect on their company and may discourage it from introducing new share option plans.
The following share option schemes were in existence at 31 May 2005:
	Director’s name
	Grant date
	Options granted
	Fair value of options at grant date
	Exercise price
	Performance condition
	Vesting date
	Exercise date

	
	
	
	$
	$
	
	
	

	J. Van Heflin
	1 Jun 03
	20,000
	5
	4.50
	A
	6/2005
	6/2006

	R. Ashworth
	1 Jun 04
	50,000
	6
	6
	B
	6/2007
	6/2008


The price of the company’s shares at 31 May 2005 is $12 per share and at 31 May 2004 was $12.50 per share.

The performance conditions which apply to the exercise of executive share options are as follows:
Performance Condition A

The share options do not vest if the growth in the company’s earnings per share (EPS) for the year is less than 4%. The rate of growth of EPS was 4.5% (2003), 4.1% (2004), 4.2% (2005). The directors must still work for the company on the vesting date.
Performance Condition B

The share options do not vest until the share price has increased from its value of $12.50 at the grant date (1 June 2004) to above $13.50. The director must still work for the company on the vesting date.
No directors have left the company since the issue of the share options and none are expected to leave before June 2007. The shares vest and can be exercised on the first day of the due month.
The directors are uncertain about the deferred tax implications of adopting HKFRS 2. Vident operates in a country where a tax allowance will not arise until the options are exercised and the tax allowance will be based on the option’s intrinsic value at the exercise date.
Assume a tax rate of 30%.
Required:
Draft a report to the directors of Vident setting out:

(a)
the reasons why share-based payments should be recognised in financial statements and why the directors’ arguments are unacceptable;
(9 marks)

(b)
a discussion (with suitable calculations) as to how the directors’ share options would be accounted for in the financial statements for the year ended 31 May 2005 including the adjustment to opening balances;
(9 marks)

(c)
the deferred tax implications (with suitable calculations) for the company which arise from the recognition of a remuneration expense for the directors’ share options.



(7 marks)


(25 marks)

(Adapted ACCA 3.6 Advanced Corporate Reporting June 2005 Q2)

Question 19 – HKAS 10, HKAS 33, HKFRS 2, HKFRS 3 and HKFRS 5
Ryder, a public limited company, is reviewing certain events which have occurred since its year end of 31 October 2005. The financial statements were authorised on 12 December 2005. The following events are relevant to the financial statements for the year ended 31 October 2005:
(i)
Ryder has a good record of ordinary dividend payments and has adopted a recent strategy of increasing its dividend per share annually. For the last three years the dividend per share has increased by 5% per annum. On 20 November 2005, the board of directors proposed a dividend of 10c per share for the year ended 31 October 2005. The shareholders are expected to approve it at a meeting on 10 January 2006, and a dividend amount of $20 million will be paid on 20 February 2006 having been provided for in the financial statements at 31 October 2005. The directors feel that a provision should be made because a ‘valid expectation’ has been created through the company’s dividend record.
(3 marks)

(ii)
Ryder disposed of a wholly owned subsidiary, Krup, a public limited company, on 10 December 2005 and made a loss of $9 million on the transaction in the group financial statements. As at 31 October 2005, Ryder had no intention of selling the subsidiary which was material to the group. The directors of Ryder have stated that there were no significant events which have occurred since 31 October 2005 which could have resulted in a reduction in the value of Krup. The carrying value of the net assets and purchased goodwill of Krup at 31 October 2005 were $20 million and $12 million respectively. Krup had made a loss of $2 million in the period 1 November 2005 to 10 December 2005.
(5 marks)

(iii)
Ryder acquired a wholly owned subsidiary, Metalic, a public limited company, on 21 January 2004. The consideration payable in respect of the acquisition of Metalic was 2 million ordinary shares of $1 of Ryder plus a further 300,000 ordinary shares if the profit of Metalic exceeded $6 million for the year ended 31 October 2005. The profit for the year of Metalic was $7 million and the ordinary shares were issued on 12 November 2005. The annual profits of Metalic had averaged $7 million over the last few years and, therefore, Ryder had included an estimate of the contingent consideration in the cost of the acquisition at 21 January 2004. The fair value used for the ordinary shares of Ryder at this date including the contingent consideration was $10 per share. The fair value of the ordinary shares on 12 November 2005 was $11 per share. Ryder also made a one for four bonus issue on 13 November 2005 which was applicable to the contingent shares issued. The directors are unsure of the impact of the above on earnings per share and the accounting for the acquisition.
(7 marks)

(iv)
The company acquired a property on 1 November 2004 which it intended to sell. The property was obtained as a result of a default on a loan agreement by a third party and was valued at $20 million on that date for accounting purposes which exactly offset the defaulted loan. The property is in a state of disrepair and Ryder intends to complete the repairs before it sells the property. The repairs were completed on 30 November 2005. The property was sold after costs for $27 million on 9 December 2005. The property was classified as ‘held for sale’ at the year end under HKFRS 5 ‘Non-current Assets Held for Sale and Discontinued Operations’ but shown at the net sale proceeds of $27 million. Property is depreciated at 5% per annum on the straight-line basis and no depreciation has been charged in the year.
(5 marks)

(v)
The company granted share appreciation rights (SARs) to its employees on 1 November 2003 based on ten million shares. The SARs provide employees at the date the rights are exercised with the right to receive cash equal to the appreciation in the company’s share price since the grant date. The rights vested on 31 October 2005 and payment was made on schedule on 1 December 2005. The fair value of the SARs per share at 31 October 2004 was $6, at 31 October 2005 was $8 and at 1 December 2005 was $9. The company has recognised a liability for the SARs as at 31 October 2004 based upon HKFRS 2 ‘Share-based Payment’ but the liability was stated at the same amount at 31 October 2005.
(5 marks)
Required:

Discuss the accounting treatment of the above events in the financial statements of the Ryder Group for the year ended 31 October 2005, taking into account the implications of events occurring after the reporting period.
(The mark allocations are set out after each paragraph above.)
(25 marks)


(ACCA 3.6 Advanced Corporate Reporting December 2005 Q4)

Question 20 – HKFRS 2 and HKFRS 9
Margie, a public limited company, has entered into several share related transactions during the period and wishes to obtain advice on how to account for the transactions.
(a)
Margie has entered into a contract with a producer to purchase 350 tonnes of wheat. The purchase price will be settled in cash at an amount equal to the value of 2,500 of Margie’s shares. Margie may settle the contract at any time by paying the producer an amount equal to the current market value of 2,500 of Margie shares, less the market value of 350 tonnes of wheat. Margie has entered into the contract as part of its hedging strategy and has no intention of taking physical delivery of the wheat. Margie wishes to treat this transaction as a share-based payment transaction under HKFRS 2 ‘Share-based Payment’.
(7 marks)
(b)
Margie has acquired 100% of the share capital of Antalya in a business combination on 1 December 2009. Antalya had previously granted a share-based payment to its employees with a four-year vesting period. Its employees have rendered the required service for the award at the acquisition date but have not yet exercised their options. The fair value of the award at 1 December 2009 is $20 million and Margie is obliged to replace the share-based payment awards of Antalya with awards of its own.
Margie issues a replacement award that does not require post-combination services. The fair value of the replacement award at the acquisition date is $22 million. Margie does not know how to account for the award on the acquisition of Antalya.
(6 marks)
(c)
Margie issued shares during the financial year. Some of those shares were subscribed for by employees who were existing shareholders, and some were issued to an entity, Grief, which owned 5% of Margie's share capital. Before the shares were issued, Margie offered to buy a building from Grief and agreed that the purchase price would be settled by the issue of shares. Margie wondered whether these transactions should be accounted for under HKFRS 2.


(4 marks)
(d)
Margie granted 100 options to each of its 4,000 employees at a fair value of $10 each on 1 December 2007. The options vest upon the company’s share price reaching $15, provided the employee has remained in the company’s service until that time. The terms and conditions of the options are that the market condition can be met in either year 3, 4 or 5 of the employee’s service.
At the grant date, Margie estimated that the expected vesting period would be four years which is consistent with the assumptions used in estimating the fair value of the options granted. The company’s share price reached $15 on 30 November 2010.
(6 marks)
Required:

Discuss, with suitable computations where applicable, how the above transactions would be dealt with in the financial statements of Margie for the year ending 30 November 2010.
Professional marks will be awarded in question 2 for the clarity and quality of discussion.

(2 marks)


(25 marks)

(ACCA P2 Corporate Reporting December 2010 Q2)
Question 21 – HKFRS 5, HKAS 36, HKAS 12 and HKAS 17
Ghorse, a public limited company, operates in the fashion sector and had undertaken a group re-organisation during the current financial year to 31 October 2007. As a result the following events occurred:
(a)
Ghorse identified two manufacturing units, Cee and Gee, which it had decided to dispose of in a single transaction. These units comprised non-current assets only. One of the units, Cee, had been impaired prior to the financial year end on 30 September 2007 and it had been written down to its recoverable amount of $35 million. The criteria in HKFRS5, ‘Non-current Assets Held for Sale and Discontinued Operations’, for classification as held for sale, had been met for Cee and Gee at 30 September 2007. The following information related to the assets of the cash generating units at 30 September 2007:
	
	Depreciated historical cost
	Fair value less costs to sell and recoverable amount
	Carrying value under HKFRS

	
	$m
	$m
	$m

	Cee
	50
	35
	35

	Gee
	70
	90
	70

	
	120
	125
	105


The fair value less costs to sell had risen at the year end to $40 million for Cee and $95 million for Gee. The increase in the fair value less costs to sell had not been taken into account by Ghorse.
(7 marks)

(b)
As a consequence of the re-organisation, and a change in government legislation, the tax authorities have allowed a revaluation of the non-current assets of the holding company for tax purposes to market value at 31 October 2007. There has been no change in the carrying values of the non-current assets in the financial statements. The tax base and the carrying values after the revaluation are as follows:
	
	Carrying amount at 31 October 2007
	Tax base at 31 October 2007 after revaluation
	Tax base at 31 October 2007 before revaluation

	
	$m
	$m
	$m

	Property
	50
	65
	48

	Vehicles
	30
	35
	28


Other taxable temporary differences amounted to $5 million at 31 October 2007. Assume income tax is paid at 30%. The deferred tax provision at 31 October 2007 had been calculated using the tax values before revaluation.
(6 marks)

(c)
A subsidiary company had purchased computerised equipment for $4 million on 31 October 2006 to improve the manufacturing process. Whilst re-organising the group, Ghorse had discovered that the manufacturer of the computerised equipment was now selling the same system for $2·5 million. The projected cash flows from the equipment are:
	Year ended 31 October
	Cash flows ($m)

	2008
	1.3

	2009
	2.2

	2010
	2.3


The residual value of the equipment is assumed to be zero. The company uses a discount rate of 10%. The directors think that the fair value less costs to sell of the equipment is $2 million. The directors of Ghorse propose to write down the non-current asset to the new selling price of $2.5 million. The company’s policy is to depreciate its computer equipment by 25% per annum on the straight line basis.
(d)
The manufacturing property of the group, other than the head office, was held on an operating lease over 8 years. On re-organisation on 31 October 2007, the lease has been renegotiated and is held for 12 years at a rent of $5 million per annum paid in arrears. The fair value of the property is $35 million and its remaining economic life is 13 years. The lease relates to the buildings and not the land. The factor to be used for an annuity at 10% for 12 years is 6.8137.
The directors are worried about the impact that the above changes will have on the value of its non-current assets and its key performance indicator which is ‘Return on Capital Employed’ (ROCE). ROCE is defined as operating profit before interest and tax divided by share capital, other reserves and retained earnings. The directors have calculated ROCE as $30 million divided by $220 million, i.e. 13.6% before any adjustments required by the above.
Formation of opinion on impact on ROCE.
(2 marks)

Required:

Discuss the accounting treatment of the above transactions and the impact that the resulting adjustments to the financial statements would have on ROCE.
Note: your answer should include appropriate calculations where necessary and a discussion of the accounting principles involved.

(25 marks)


(Adapted ACCA P2 Corporate Reporting December 2007 Q3)

Question 22 – HKAS 18 and HKAS 20
One of the hotels owned by Norman is a hotel complex which includes a theme park, a casino and a golf course, as well as a hotel. The theme park, casino, and hotel were sold in the year ended 31 May 2008 to Conquest, a public limited company, for $200 million but the sale agreement stated that Norman would continue to operate and manage the three businesses for their remaining useful life of 15 years. The residual interest in the business reverts back to Norman after the 15 year period. Norman would receive 75% of the net profit of the businesses as operator fees and Conquest would receive the remaining 25%. Norman has guaranteed to Conquest that the net minimum profit paid to Conquest would not be less than $15 million.
(4 marks)
Norman has recently started issuing vouchers to customers when they stay in its hotels. The vouchers entitle the customers to a $30 discount on a subsequent room booking within three months of their stay. Historical experience has shown that only one in five vouchers are redeemed by the customer. At the company’s year end of 31 May 2008, it is estimated that there are vouchers worth $20 million which are eligible for discount. The income from room sales for the year is $300 million and Norman is unsure how to report the income from room sales in the financial statements.
(4 marks)
Norman has obtained a significant amount of grant income for the development of hotels in Europe. The grants have been received from government bodies and relate to the size of the hotel which has been built by the grant assistance. The intention of the grant income was to create jobs in areas where there was significant unemployment. The grants received of $70 million will have to be repaid if the cost of building the hotels is less than $500 million.
(4 marks)
Appropriateness and quality of discussion.
(2 marks)

Required:
Discuss how the above income would be treated in the financial statements of Norman for the year ended 31 May 2008.


(ACCA P2 Corporate Reporting June 2008 Q2b)
Question 23 – HKAS 38, HKAS 16, HKAS 17, HKAS 2 and HKAS 18
Johan, a public limited company, operates in the telecommunications industry. The industry is capital intensive with heavy investment in licences and network infrastructure. Competition in the sector is (fierce and technological advances are a characteristic of the industry. Johan has responded to these factors by offering incentives to customers and, in an attempt to acquire and retain them, Johan purchased a telecom licence on 1 December 2006 for $120 million. The (licence has a term of six years and cannot be used until the network assets and infrastructure are ready for use. The related network assets and infrastructure became ready for use on 1 December 2007. Johan could not operate in the country without the licence and is not permitted to sell the licence. Johan expects its subscriber base to grow over the period of the licence but is disappointed with its market share for the year to 30 November 2008. The licence agreement does not deal with the renewal of the licence but there is an (expectation that the regulator will grant a single renewal for the same period of time as long as certain criteria regarding network build quality and service quality are met. (Johan has no experience of the charge that will be made by the regulator for the renewal but other licences have been renewed at a nominal cost. The licence is currently stated at its original cost of $120 million in the statement of financial position under non-current assets.
Johan is considering extending its network and has carried out a feasibility study during the year to 30 November 2008. The design and planning department of Johan identified five possible geographical areas for the extension of its network. The (internal costs of this study were $150,000 and the external costs were $100,000 during the year to 30 November 2008. Following the feasibility study, Johan chose a geographical area where it was going to install a base station for the telephone network. The location of the base station was dependent upon getting planning permission. A further independent study has been carried out by third party consultants in an attempt to provide a preferred location in the area, as there is a need for the optimal operation of the network in terms of signal quality and coverage. Johan proposes to build a base station on the recommended site on which planning permission has been obtained. The (third party consultants have charged $50,000 for the study. Additionally Johan has (paid $300,000 as a single payment together with $60,000 a month to the government of the region for access to the land upon which the base station will be situated. The contract with the government is for a period of 12 years and commenced on 1 November 2008. There is no right of renewal of the contract and legal title to the land remains with the government.
Johan (purchases telephone handsets from a manufacturer for $200 each, and sells the handsets direct to customers for $150 if they purchase call credit (call card) in advance on what is called a prepaid phone. The costs of selling the handset are estimated at $1 per set. The (customers using a prepaid phone pay $21 for each call card at the purchase date. Call cards expire six months from the date of first sale. There is an average unused call credit of $3 per card after six months and the card is activated when sold.
Johan also (sells handsets to dealers for $150 and invoices the dealers for those handsets. The dealer can return the handset up to a service contract being signed by a customer. When the customer signs a service contract, the customer receives the handset free of charge. Johan allows the dealer a commission of $280 on the connection of a customer and the transaction with the dealer is settled net by a payment of $130 by Johan to the dealer being the cost of the handset to the dealer ($150) deducted from the commission ($280). The handset cannot be sold separately by the dealer and the service contract lasts for a 12 month period. Dealers do not sell prepaid phones, and Johan receives monthly revenue from the service contract.
The chief operating officer, a non-accountant, has asked for an explanation of the accounting principles and practices which should be used to account for the above events.
Required:

Discuss the principles and practices which should be used in the financial year to 30 November 2008 to account for:
(a)
the licences;
(8 marks)

(b)
the costs incurred in extending the network;
(7 marks)

(c)
the purchase of handsets and the recognition of revenue from customers and dealers.


(8 marks)

Appropriateness and quality of discussion.
(2 marks)



(25 marks)

(ACCA P2 Corporate Reporting December 2008 Q3)
Question 24 – HKAS 18, HKAS 10, HKAS 2, HKAS 38 and HKAS 36
Burley, a public limited company, operates in the energy industry. It has entered into several arrangements with other entities as follows:
(i)
Burley and Slite, a public limited company, jointly control an oilfield. Burley has a 60% interest and Slite a 40% interest and the companies are entitled to extract oil in these proportions. An agreement was signed on 1 December 2008, which allowed for the net cash settlement of any over/under extraction by one company. The net cash settlement would be at the market price of oil at the date of settlement. Both parties have used this method of settlement before. 200,000 barrels of oil were produced up to 1 October 2009 but none were produced after this up to 30 November 2009 due to production difficulties. The oil was all sold to third parties at $100 per barrel. Burley has extracted 10,000 barrels more than the company’s quota and Slite has under extracted by the same amount. The market price of oil at the year-end of 30 November 2009 was $105 per barrel. The excess oil extracted by Burley was settled on 12 December 2009 under the terms of the agreement at $95 per barrel.
Burley had purchased oil from another supplier because of the production difficulties at $98 per barrel and has oil inventory of 5,000 barrels at the year-end, purchased from this source. Slite had no inventory of oil. Neither company had oil inventory at 1 December 2008. Selling costs are $2 per barrel.
Burley wishes to know how to account for the recognition of revenue, the excess oil extracted and the oil inventory at the year-end.
(10 marks)
(ii)
Burley has purchased a transferable interest in an oil exploration licence. Initial surveys of the region designated for exploration indicate that there are substantial oil deposits present but further surveys will be required in order to establish the nature and extent of the deposits. Burley also has to determine whether the extraction of the oil is commercially viable. Past experience has shown that the licence can increase substantially in value if further information as to the viability of the extraction of the oil becomes available. Burley wishes to capitalise the cost of the licence but is unsure as to whether the accounting policy is compliant with Hong Kong Financial Reporting Standards.
(4 marks)
Professional marks will be awarded in question 3 for clarity and expression.
(2 marks)

Required:
Discuss with suitable computations where necessary, how the above arrangements and events would be accounted for in the financial statements of Burley.

(ACCA P2 Corporate Reporting December 2009 Q3(i) & (iii))
Question 25 – HKAS 18, HKAS 16, HKAS 36, HKFRS 5, HKAS 40 and HKAS 37
Tyre, a public limited company, operates in the vehicle retailing sector. The company is currently preparing its financial statements for the year ended 31 May 2006 and has asked for advice on how to deal with the following items:
(i)
Tyre requires customers to pay a deposit of 20% of the purchase price when placing an order for a vehicle. If the customer cancels the order, the deposit is not refundable and Tyre retains it. If the order cannot be fulfilled by Tyre, the company repays the full amount of the deposit to the customer. The balance of the purchase price becomes payable on the delivery of the vehicle when the title to the goods passes. Tyre proposes to recognize the revenue from the deposits immediately and the balance of the purchase price when the goods are delivered to the customer. The cost of sales for the vehicle is recognised when the balance of the purchase price is paid. Additionally, Tyre had sold a fleet of cars to Hub and gave Hub a discount of 30% of the retail price on the transaction. The discount given is normal for this type of transaction. Tyre has given Hub a buyback option which entitles Hub to require Tyre to repurchase the vehicles after three years for 40% of the purchase price. The normal economic life of the vehicles is five years and the buyback option is expected to be exercised.
(8 marks)
(ii)
The property of the former administrative centre of Tyre is owned by the company. Tyre had decided in the year that the property was surplus to requirements and demolished the building on 10 June 2006. After demolition, the company will have to carry out remedial environmental work, which is a legal requirement resulting from the demolition. It was intended that the land would be sold after the remedial work had been carried out. However, land prices are currently increasing in value and, therefore, the company has decided that it will not sell the land immediately. Tyres uses the ‘cost model’ in HKAS 16 ‘Property, plant and equipment’ and has owned the property for many years.
(7 marks)
(iii)
Tyre has entered into two new long lease property agreements for two major retail outlets. Annual rentals are paid under these agreements. Tyre has had to pay a premium to enter into these agreements because of the outlets’ location. Tyre feels that the premiums paid are justifiable because of the increase in revenue that will occur because of the outlets’ location. Tyre has analysed the leases and has decided that one is a finance lease and one is an operating lease but the company is unsure as to how to treat this premium.
(5 marks)
(iv)
Tyre recently undertook a sales campaign whereby customers can obtain free car accessories, by presenting a coupon, which has been included in an advertisement in a national newspaper, on the purchase of a vehicle. The offer is valid for a limited time period from 1 January 2006 until 31 July 2006. The management are unsure as to how to treat this offer in the financial statements for the year ended 31 May 2006.
(5 marks)
Required:

Advise the directors of Tyre on how to treat the above items in the financial statements for the year ended 31 May 2006.

(The mark allocation is shown against each of the above items)


(25 marks)

(ACCA 3.6 Advanced Corporate Reporting June 2006 Q2)

Question 26 – HKAS 18, HKAS 8, HKAS 16, HKAS 17, HKAS 28 and HKFRS 10
(a)
Router, a public limited company operates in the entertainment industry. It recently agreed with a television company to make a film which will be broadcast on the television company’s network. The fee agreed for the film was $5 million with a further $100,000 to be paid every time the film is shown on the television company’s channels. It is hoped that it will be shown on four occasions. The film was completed at a cost of $4 million and delivered to the television company on 1 April 2007. The television company paid the fee of $5 million on 30 April 2007 but indicated that the film needed substantial editing before they were prepared to broadcast it, the costs of which would be deducted from any future payments to Router. The directors of Router wish to recognise the anticipated future income of $400,000 in the financial statements for the year ended 31 May 2007.
(5 marks)
(b)
Router has a number of film studios and office buildings. The office buildings are in prestigious areas whereas the film studios are located in ‘out of town’ locations. The management of Router wish to apply the ‘revaluation model’ to the office buildings and the ‘cost model’ to the film studios in the year ended 31 May 2007. At present both types of buildings are valued using the ‘revaluation model’. One of the film studios has been converted to a theme park. In this case only, the land and buildings on the park are leased on a single lease from a third party. The lease term was 30 years in 1990. The lease of the land and buildings was classified as a finance lease even though the financial statements purport to comply with HKAS 17 ‘Leases’.
The terms of the lease were changed on 31 May 2007. Router is now going to terminate the lease early in 2015 in exchange for a payment of $10 million on 31 May 2007 and a reduction in the monthly lease payments. Router intends to move from the site in 2015. The revised lease terms have not resulted in a change of classification of the lease in the financial statements of Router.
(10 marks)
(c)
At 1 June 2006, Router held a 25% shareholding in a film distribution company, Wireless, a public limited company. On 1 January 2007, Router sold a 15% holding in Wireless thus reducing its investment to a 10% holding. Router no longer exercises significant influence over Wireless. Immediately before that sale, the carrying value of the interest in Wireless in the group financial statements was $55 million. Router received $40 million for its sale of the 15% holding in Wireless. At 1 January 2007, the fair value of the remaining investment in Wireless was $23 million and at 31 May 2007 the fair value was $26 million.
(6 marks)
(d)
Additionally Router purchased 60% of the ordinary shares of a radio station, Playtime, a public limited company, on 31 May 2007. The remaining 40% of the ordinary shares are owned by a competitor company who owns a substantial number of warrants issued by Playtime which are currently exercisable. If these warrants are exercised, they will result in Router only owning 35% of the voting shares of Playtime.
(4 marks)

Required:
Discuss how the above items should be dealt with in the group financial statements of Router for the year ended 31 May 2007.
(25 marks)

(Adapted ACCA 3.6 Advanced Corporate Reporting June 2007 Q4)

Question 27 – HKAS 12

The following statement of financial position relates to Kesare Group, a public limited company at 30 June 2006:
	Assets
	$000

	Non-current assets
	

	Property, plant and equipment
	10,000

	Goodwill
	6,000

	Other intangible assets
	5,000

	Financial assets (cost)
	9,000

	
	30,000

	Current assets
	

	Trade receivables
	7,000

	Other receivables
	4,600

	Cash and cash equivalents
	6,700

	
	18,300

	
	

	Total assets
	48,300

	Equity and liabilities
	

	Equity
	

	Share capital
	9,000

	Other reserves
	4,500

	Retained earnings
	9,130

	Total equity
	22,630

	
	

	Non-current liabilities
	

	Long term borrowings
	10,000

	Deferred tax liability
	3,600

	Employee benefit liability
	4,000

	Total non-current liabilities
	17,600

	
	

	Current liabilities
	

	Current tax liability
	3,070

	Trade and other payables
	5,000

	Total current liabilities
	8,070

	
	

	Total equity and liabilities
	48,300


The following information is relevant to the above statement of financial position:
(i)
The financial assets are classified as “investment in equity investment” but are shown in the above statement of financial position at their cost on 1 July 2005. The market value of the assets is $10.5 million on 30 June 2006. Taxation is payable on the sale of the assets. As followed by HKFRS 9, an irrevocable election was made for changes in fair value to go through other comprehensive income (not classified to profit or loss).

(ii)
The stated interest rate for the long term borrowing is 8 per cent. The loan of $10 million represents a convertible bond which has a liability component of $9.6 million and an equity component of $0.4 million. The bond was issued on 30 June 2006.

(iii)
The defined benefit plan had a rule change on 1 July 2005, giving rise to past service costs of $520,000. The past service costs have not been accounted for.

(iv)
The tax bases of the assets and liabilities are the same as their carrying amounts in the statement of financial position above as at 30 June 2006 except for the following:
	
	
	$000

	(1)
	Property, plant and equipment
	2,400

	
	Trade receivables
	7,500

	
	Other receivables
	5,000

	
	Employee benefits
	5,000


(2)
Other intangible assets were development costs which were all allowed for tax purposes when the cost was incurred in 2005.
(3)
Trade and other payables includes an accrual for compensation to be paid to employees. This amounts to $1 million and is allowed for taxation when paid.
(v)
Goodwill is not allowable for tax purposes in this jurisdiction.

(vi)
Assume taxation is payable at 30%.

Required:

(a)
Discuss the conceptual basis for the recognition of deferred taxation using the temporary difference approach to deferred taxation.
(7 marks)
(b)
Calculate the provision for deferred tax at 30 June 2006 after any necessary adjustments to the financial statements showing how the provision for deferred taxation would be dealt with in the financial statements. (Assume that any adjustments do not affect current tax. Candidates should briefly discuss the adjustments required to calculate the provision for deferred tax).
(18 marks)
Two marks will be awarded for the quality of the discussion of the conceptual basis of deferred taxation in (a).


(25 marks)

(Amended ACCA Corporate Reporting Pilot Q3)
Question 28 – HKAS 12
Cohort is a private limited company and has two 100% owned subsidiaries, Legion and Air, both themselves private limited companies. Cohort acquired Air on 1 January 2012 for $5 million when the fair value of the net assets was $4 million, and the tax base of the net assets was $3.5 million. The acquisition of Air and Legion was part of a business strategy whereby Cohort would build up the value of the group over a three year period and then list its existing share capital on the Stock Exchange.
(a)
The following details relate to the acquisition of Air, which manufactures electronic goods:
(i)
Part of the purchase price has been allocated to intangible assets because it relates to the acquisition of a database of key customers from Air. The recognition and measurement criteria for an intangible asset under HKFRS 3 Business Combinations/HKAS 38 Intangible Assets do not appear to have been met but the directors feel that the intangible asset of $0.5 million will be allowed for tax purposes and have computed the tax provision accordingly. However, the tax authorities could possibly challenge this opinion.
(ii)
Air has sold goods worth $3 million to Cohort since acquisition and made a profit of $1 million on the transaction. The inventory of these goods recorded in Cohort’s statement of financial position at the year end of 31 May 2012 was $1.8 million.
(iii)
The balance on the retained earnings of Air at acquisition was $2 million. The directors of Cohort have decided that, during the three years to the date that they intend to list the shares of the company, they will realise earnings through future dividend payments from the subsidiary amounting to $500,000 per year. Tax is payable on any remittance or dividends and no dividends have been declared for the current year.



(13 marks)
(b)
Legion was acquired on 1 June 2011 and is a company which undertakes various projects ranging from debt factoring to investing in property and commodities. The following details relate to Legion for the year ending 31 May 2012:
(i)
Legion has a portfolio of readily marketable government securities which are held as current assets. These investments are stated at market value in the statement of financial position with any gain or loss taken to the income statement. These gains and losses are taxed when the investments are sold. Currently the accumulated unrealised gains are $4 million.

(ii)
Legion has calculated that it requires a general provision of $2 million against its total loan portfolio. Tax relief is available when the specific loan is written off. Management feel that this part of the business will expand and thus the amount of the general provision will increase.

(iii)
When Cohort acquired Legion it had unused tax losses brought forward. At 1 June 2011, it appeared that Legion would have sufficient taxable profit to realise the deferred tax asset created by these losses but subsequent events have proven that the future taxable profit will not be sufficient to realise all of the unused tax loss.


(12 marks)
Any impairment of goodwill is not allowed as a deduction in determining taxable profit. The current tax rate for Cohort is 30% and for public companies is 35%.
Required:

Write a note suitable for presentation to the partner of an accounting firm setting out the deferred tax implications of the above information for the Cohort Group of companies.


(25 marks)

(Adapted ACCA 3.6 Advanced Corporate Reporting June 2002 Q3)
Question 29 – HKAS 12, HKAS 36, HKAS 27, HKFRS 5 and HAKS 19
(a)
Cate is an entity in the software industry. Cate had incurred substantial losses in the financial years 31 May 2004 to 31 May 2009. In the financial year to 31 May 2010 Cate made a small profit before tax. This included significant non-operating gains. In 2009, Cate recognised a material deferred tax asset in respect of carried forward losses, which will expire during 2012. Cate again recognised the deferred tax asset in 2010 on the basis of anticipated performance in the years from 2010 to 2012, based on budgets prepared in 2010. The budgets included high growth rates in profitability. Cate argued that the budgets were realistic as there were positive indications from customers about future orders. Cate also had plans to expand sales to new markets and to sell new products whose development would be completed soon. Cate was taking measures to increase sales, implementing new programs to improve both productivity and profitability. Deferred tax assets less deferred tax liabilities represent 25% of shareholders’ equity at 31 May 2010. There are no tax planning opportunities available to Cate that would create taxable profit in the near future.
(5 marks)
(b)
At 31 May 2010 Cate held an investment in and had a significant influence over Bates, a public limited company. Cate had carried out an impairment test in respect of its investment in accordance with the procedures prescribed in HKAS 36, Impairment of assets. Cate argued that fair value was the only measure applicable in this case as value-in-use was not determinable as cash flow estimates had not been produced. Cate stated that there were no plans to dispose of the shareholding and hence there was no binding sale agreement. Cate also stated that the quoted share price was not an appropriate measure when considering the fair value of Cate’s significant influence on Bates. Therefore, Cate estimated the fair value of its interest in Bates through application of two measurement techniques; one based on earnings multiples and the other based on an option–pricing model. Neither of these methods supported the existence of an impairment loss as of 31 May 2010.
(5 marks)
(c)
At 1 April 2009 Cate had a direct holding of shares giving 70% of the voting rights in Date. In May 2010, Date issued new shares, which were wholly subscribed for by a new investor. After the increase in capital, Cate retained an interest of 35% of the voting rights in its former subsidiary Date. At the same time, the shareholders of Date signed an agreement providing new governance rules for Date. Based on this new agreement, Cate was no longer to be represented on Date’s board or participate in its management. As a consequence Cate considered that its decision not to subscribe to the issue of new shares was equivalent to a decision to disinvest in Date. Cate argued that the decision not to invest clearly showed its new intention not to recover the investment in Date principally through continuing use of the asset and was considering selling the investment. Due to the fact that Date is a separate line of business (with separate cash flows, management and customers), Cate considered that the results of Date for the period to 31 May 2010 should be presented based on principles provided by HKFRS 5 Non-current Assets Held for Sale and Discontinued Operations.
(8 marks)
(d)
In its 2010 financial statements, Cate disclosed the existence of a voluntary fund established in order to provide a post-retirement benefit plan (Plan) to employees. Cate considers its contributions to the Plan to be voluntary, and has not recorded any related liability in its consolidated financial statements. Cate has a history of paying benefits to its former employees, even increasing them to keep pace with inflation since the commencement of the Plan. The main characteristics of the Plan are as follows:
(i)
the Plan is totally funded by Cate;

(ii)
the contributions for the Plan are made periodically;

(iii)
the post-retirement benefit is calculated based on a percentage of the final salaries of Plan participants dependent on the years of service;

(iv)
the annual contributions to the Plan are determined as a function of the fair value of the assets less the liability arising from past services.
Cate argues that it should not have to recognise the Plan because, according to the underlying contract, it can terminate its contributions to the Plan, if and when it wishes. The termination clauses of the contract establish that Cate must immediately purchase lifetime annuities from an insurance company for all the retired employees who are already receiving benefit when the termination of the contribution is communicated.
(5 marks)
Required:

Discuss whether the accounting treatments proposed by the company are acceptable under Hong Kong Financial Reporting Standards.
Professional marks will be awarded in this question for clarity and quality of discussion.

(2 marks)

The mark allocation is shown against each of the four parts above.


(25 marks)

(ACCA P2 Corporate Reporting June 2010 Q2)

Question 30 – HKAS 12 and HKFRS 1
The directors of Panel, a public limited company, are reviewing the procedures for the calculation of the deferred tax provision for their company. They are quite surprised at the impact on the provision caused by changes in accounting standards such as HKFRS1 ‘First time adoption of International Financial Reporting Standards’ and HKFRS2 ‘Share-based Payment’. Panel is adopting International Financial Reporting Standards for the first time as at 31 October 2005 and the directors are unsure how the deferred tax provision will be calculated in its financial statements ended on that date including the opening provision at 1 November 2003.
Required:

(a)
(i)
Explain how changes in accounting standards are likely to have an impact on the provision for deferred taxation under HKAS 12 ‘Income Taxes’.
(5 marks)
(ii)
Describe the basis for the calculation of the provision for deferred taxation on first time adoption of HKFRS including the provision in the opening HKFRS statement of financial position.
(4 marks)

Additionally the directors wish to know how the provision for deferred taxation would be calculated in the following situations under HKAS 12 ‘Income Taxes’:
(i)
On 1 November 2003, the company had granted ten million share options worth $40 million subject to a two year vesting period. Local tax law allows a tax deduction at the exercise date of the intrinsic value of the options. The intrinsic value of the ten million share options at 31 October 2004 was $16 million and at 31 October 2005 was $46 million. The increase in the share price in the year to 31 October 2005 could not be foreseen at 31 October 2004. The options were exercised at 31 October 2005. The directors are unsure how to account for deferred taxation on this transaction for the years ended 31 October 2004 and 31 October 2005.
(ii)
Panel is leasing plant under a finance lease over a five year period. The asset was recorded at the present value of the minimum lease payments of $12 million at the inception of the lease which was 1 November 2004. The asset is depreciated on a straight line basis over the five years and has no residual value. The annual lease payments are $3 million payable in arrears on 31 October and the effective interest rate is 8% per annum. The directors have not leased an asset under a finance lease before and are unsure as to its treatment for deferred taxation. The company can claim a tax deduction for the annual rental payment as the finance lease does not qualify for tax relief.
(iii)
A wholly owned overseas subsidiary, Pins, a limited liability company, sold goods costing $7 million to Panel on 1 September 2005, and these goods had not been sold by Panel before the year end. Panel had paid $9 million for these goods. The directors do not understand how this transaction should be dealt with in the financial statements of the subsidiary and the group for taxation purposes. Pins pays tax locally at 30%.
(iv)
Nails, a limited liability company, is a wholly owned subsidiary of Panel, and is a cash generating unit in its own right. The value of the property, plant and equipment of Nails at 31 October 2005 was $6 million and purchased goodwill was $1 million before any impairment loss. The company had no other assets or liabilities. An impairment loss of $1·8 million had occurred at 31 October 2005. The tax base of the property, plant and equipment of Nails was $4 million as at 31 October 2005. The directors wish to know how the impairment loss will affect the deferred tax provision for the year. Impairment losses are not an allowable expense for taxation purposes.
Assume a tax rate of 30%.

Required:

(b)
Discuss, with suitable computations, how the situations (i) to (iv) above will impact on the accounting for deferred tax under HKAS 12 ‘Income Taxes’ in the group financial statements of Panel.
(16 marks)

(The situations in (i) to (iv) above carry equal marks)



(25 marks)


(ACCA 3.6 Advanced Corporate Reporting December 2005 Q3)

Question 31 – Conceptual Framework, HKAS 12 and HKAS 37
Nette, a public limited company, manufactures mining equipment and extracts natural gas. The directors are uncertain about the role of the HKICPA’s ‘Conceptual Framework for Financial Reporting 2010’ (the Framework) in corporate reporting. Their view is that accounting is based on the transactions carried out by the company and these transactions are allocated to the company’s accounting period by using the matching and prudence concepts. The argument put forward by the directors is that the Framework does not take into account the business and legal constraints within which companies operate. Further they have given two situations which have arisen in the current financial statements where they feel that the current accounting practice is inconsistent with the Framework.
Situation 1
Nette has recently constructed a natural gas extraction facility and commenced production one year ago (1 June 2003). There is an operating licence given to the company by the government which requires the removal of the facility at the end of its life which is estimated at 20 years. Depreciation is charged on the straight line basis. The cost of the construction of the facility was $200 million and the net present value at 1 June 2003 of the future costs to be incurred in order to return the extraction site to its original condition are estimated at $50 million (using a discount rate of 5% per annum). 80 per cent of these costs relate to the removal of the facility and 20% relate to the rectification of the damage caused through the extraction of the natural gas. The auditors have told the company that a provision for decommissioning has to be set up.
Situation 2

Nette purchased a building on 1 June 2003 for $10 million. The building qualified for a grant of $2 million which has been treated as a deferred credit in the financial statements. The tax allowances are reduced by the amount of the grant. There are additional temporary differences of $40 million in respect of deferred tax liabilities at the year end. Also the company has sold extraction equipment which carries a five year warranty. The directors have made a provision for the warranty of $4 million at 31 May 2004 which is deductible for tax when costs are incurred under the warranty. In addition to the warranty provision the company has unused tax losses of $70 million. The directors of the company are unsure as to whether a provision for deferred taxation is required.
(Assume that the depreciation of the building is straight line over ten years, and tax allowances of 25% on the reducing balance basis can be claimed on the building. Tax is payable at 30%.)
Required:

(a)
Explain the importance of the ‘Framework’ to the reporting of corporate performance and whether it takes into account the business and legal constraints placed upon companies.
(6 marks)
(b)
(i)
Explain with reasons and suitable extracts/computations the accounting treatment of the above two situations in the financial statements for the year ended 31 May 2004. 
(14 marks)
(ii)
Discuss whether the treatment of the items appears consistent with the ‘Framework’.
(5 marks)



(25 marks)



(Adapted ACCA 3.6 Advanced Corporate Reporting June 2004 Q3)

Question 32 – HKAS 24 and HKAS 21
On 1 June 2005, Egin, a public limited company, was formed out of the re-organisation of a group of companies with foreign operations. The directors require advice on the disclosure of related party information but are reluctant to disclose information as they feel that such transactions are a normal feature of business and need not be disclosed.
Under the new group structure, Egin owns 80% of Briars, 60% of Doye, and 30% of Eye. Egin exercises significant influence over Eye. The directors of Egin are also directors of Briars and Doye but only one director of Egin sits on the management board of Eye. The management board of Eye comprises five directors. Originally the group comprised five companies but the fifth company, Tang, which was a 70% subsidiary of Egin, was sold on 31 January 2006. There were no transactions between Tang and the Egin Group during the year to 31 May 2006. 30% of the shares of Egin are owned by another company, Atomic, which exerts significant influence over Egin. The remaining 40% of the shares of Doye are owned by Spade.
[image: image1.emf]
During the current financial year to 31 May 2006, Doye has sold a significant amount of plant and equipment to Spade at the normal selling price for such items. The directors of Egin have proposed that where related party relationships are determined and sales are at normal selling price, any disclosures will state that prices charged to related parties are made on an arm’s length basis.
The directors are unsure how to treat certain transactions relating to their foreign subsidiary, Briars. Egin purchased 80% of the ordinary share capital of Briars on 1 June 2005 for 50 million euros when its net assets were fair valued at 45 million euros. At 31 May 2006, it is established that goodwill is impaired by 3 million euros. Additionally, at the date of acquisition, Egin had made an interest free loan to Briars of $10 million. The loan is to be repaid on 31 May 2007. An equivalent loan would normally carry an interest rate of 6% taking into account Briars’ credit rating.
The exchange rates were as follows:
	
	Euro to $

	1 June 2005
	2.0

	31 May 2006
	2.5

	Average rate for year
	2.3


Financial liabilities of the Group are normally measured at amortised cost.
One of the directors of Briars who is not on the management board of Egin owns the whole of the share capital of a company, Blue, that sells goods at market price to Briars. The director is in charge of the production at Briars and also acts as a consultant to the management board of the group.
Required:
(a)
(i)
Discuss why it is important to disclose related party transactions, explaining the criteria which determine a related party relationship.
(5 marks)
(ii)
Describe the nature of any related party relationships and transactions which exists:
· within the Egin Group including Tang
(5 marks)

· between Spade and the Egin Group
(3 marks)

· between Atomic and the Egin Group
(3 marks)

commenting on whether transactions should be described as being at ‘arm’s length’.
(b)
Describe with suitable calculations how the goodwill arising on the acquisition of Briars will be dealt with in the group financial statements and how the loan to Briars should be treated in the financial statements of Briars for the year ended 31 May 2006.
(9 marks)



(25 marks)



(ACCA 3.6 Advanced Corporate Reporting June 2006 Q3)

Question 33 – HKAS 19
Savage, a public limited company, operates a funded defined benefit plan for its employees. The plan provides a pension of 1% of the final salary for each year of service. The cost for the year is determined using the projected unit credit method. This reflects service rendered to the dates of valuation of the plan and incorporates actuarial assumptions primarily regarding discount rates, which are based on the market yields of high quality corporate bonds. The expected average remaining working lives of employees is twelve years.
The directors have provided the following information about the defined benefit plan for the current year (year ended 31 October 2005):
(i)
the actuarial cost of providing benefits in respect of employees’ service for the year to 31 October 2005 was $40 million. This is the present value of the pension benefits earned by the employees in the year.

(ii)
The pension benefits paid to former employees in the year were $42 million.

(iii)
Savage should have paid contributions to the fund of $53 million. Because of cash flow problems $8 million of this amount had not been paid at the financial year end of 31 October 2005.

(iv)
The present value of the obligation to provide benefits to current and former employees was $3,000 million at 31 October 2004 and $3,375 million at 31 October 2005.

(v)
The fair value of the plan assets was $2,900 million at 31 October 2004 and $3,170 million (including the contributions owed by Savage) at 31 October 2005. The actuarial gains recognised at 31 October 2004 were $336 million.
With effect from 1 November 2004, the company had amended the plan so that the employees were now provided with an increased pension entitlement. The benefits became vested immediately and the actuaries computed that the present value of the cost of these benefits at 1 November 2004 was $125 million. The discount rates and expected rates of return on the plan assets were as follows:
	
	31 October 2004
	31 October 2005

	Discount rate
	6%
	7%


Required:

(a)
Show the amounts which will be recognised in the statement of financial position and the single statement of total comprehensive income of Savage for the year ended 31 October 2005 under HKAS 19 ‘Employee Benefits’, and the movement in the net liability in the statement of financial position. (Your calculations should show the changes in the present value of the obligation and the fair value of the plan assets during the year. Ignore any deferred taxation effects and assume that pension benefits and the contributions paid were settled at 31 October 2005.)
(21 marks)
(b)
Explain how the non-payment of contributions and the change in the pension benefits should be treated in the financial statements of Savage for the year ended 31 October 2005. 
(4 marks)



(25 marks)


(Adapted ACCA 3.6 Advanced Corporate Reporting December 2005 Q2)

Question 34 – HKAS 19
(a)
Accounting for defined benefit pension schemes is a complex area of great importance. In some cases, the net pension liability even exceeds the market capitalization of the company. The financial statements of a company must provide investors, analysts and companies with clear, reliable and comparable information on a company’s pension obligations and interest on net plan assets/obligations.
Required:

(i)
Discuss the problems associated with HKAS 19 Employee Benefits prior to its revision in June 2011 regarding the accounting for actuarial gains and losses, setting out the main criticisms of the approach taken under the old version of the standard.



(6 marks)

(ii)
Outline the advantages of immediate recognition of such gains and losses.



(4 marks)

(iii)
Discuss the other main changes to HKAS 19 when it was revised in June 2011, explaining how the revised treatment differed from the previous treatment.



(5 marks)

(iv)
Outline the likely consequences of the revision of HKAS 19.
(2 marks)

Professional marks will be awarded in part (a) for clarity and quality of discussion.



(2 marks)
(b)
Smith operates a defined benefit pension plan for its employees. At 1 January 2012 the fair value of the pension plan assets was $2,600,000 and the present value of the plan liabilities was $2,900,000.

The actuary estimates that the current and past service costs for the year ended 31 December 2012 is $450,000 and $90,000 respectively. The past service cost is caused by an increase in pension benefits and takes effect from 31 December 2012. The plan liabilities at 1 January and 31 December 2012 correctly reflect the impact of this increase.

The interest rate on high quality corporate bonds for the year ended 31 December 2012 was 8%.

The pension plan paid $240,000 to retired members on 31 December 2012. On the same date, Smith paid $730,000 in contributions to the pension plan and this included $90,000 in respect of past service costs.

At 31 December 2012 the fair value of the pension assets is $3,400,000 and the present value of the plan liabilities is $3,500,000.

In accordance with the 2011 version to HKAS 19 Employee Benefits, Smith recognizes actuarial gains and losses (now called ‘remeasurement gains and losses) in other comprehensive income in the period in which they occur.

Required:

Calculate the remeasurement gains or losses on pension plan assets and liabilities that will be included in other comprehensive income for the year ended 31 December 2012. (Round all the figures to the nearest $000).
(3 marks)


(25 marks)


(Amended ACCA P2 Corporate Reporting June 2009 Q4)
Question 35 – HKAS 19 and HKAS 37
Macaljoy, a public limited company, is a leading support services company which focuses on the building industry. The company would like advice on how to treat certain items under HKAS 19 Employee Benefits and HKAS 37 Provision, Contingent Liabilities and Contingent Assets. The company operates the Macaljoy Pension Plan B which commenced on 1 November 2006 and the Macaljoy Pension Plan A, which was closed to new entrants from 31 October 2006, but which was open to future service accrual for the employees already in the scheme. The assets of the schemes are held separately from those of the company in funds under the control trustees. The following information relates to the two schemes.
Macaljoy Pension Plan A

The terms of the plan are as follows.
(i)
Employees contribute 6% of their salaries to the plan.

(ii)
Macaljoy contributes, currently, the same amount to the plan for the benefit of the employees.

(iii)
On retirement, employees are guaranteed a pension which is based upon the number of years service with the company and their final salary.

The following details relate to the plan in the year to 31 October 2007:

	
	$m

	Present value of obligation at 1 November 2006
	200

	Present value of obligation at 31 October 2007
	240

	Fair value of plan assets at 1 November 2006
	190

	Fair value of plan assets at 31 October 2007
	225

	Current service cost
	20

	Pension benefits paid
	19

	Total contributions paid to the scheme for year to 31 October 2007
	17


Remeasurement gains and losses are recognized in accordance with HKAS 19 as revised in 2011.
Macaljoy Pension B

Under the terms of the plan, Macaljoy does not guarantee any return on the contributions paid into the fund. The company’s legal and constructive obligation is limited to the amount that is contributed to the fund. The following details relate to this scheme:
	
	$m

	Fair value plan assets at 31 October 2007
	21

	Contributions paid by company for year to 31 October 2007
	10

	Contributions paid by employees for year to 31 October 2007
	10


The interest rate on high quality corporate bonds for the two plans are:

1 November 2006 – 5%

31 October 2007 – 6%
The company would like advice on how to treat the two pension plans, for the year ended 31 October 2007, together with an explanation of the differences between a defined contribution plan and a defined benefit plan.

Warranties

Additionally the company manufactures and sells building equipment on which it gives a standard one year warranty to all customers. The company has extended the warranty to two years for certain major customers and has insured against the cost of the second year of the warranty. The warranty has been extended at nil cost to the customer. The claims made under the extended warranty are made in the first instance against Macaljoy and then Macaljoy in turn makes a counter claim against the insurance company. Past experience has shown that 80% of the building equipment will not be subject to warranty claims in the first year, 15% will have minor defects and 5% will require major repair. Macaljoy estimates that in the second year of the warranty, 20% of the items sold will have minor defects and 10% will require major repair.

In the year to 31 October 2007, the following information is relevant.
	
	Standard warranty

(units)
	Extended warranty

(units)
	Selling price per unit (both) ($)

	Sales
	2,000
	5,000
	1,000

	
	
	Major repair
	Minor defect

	
	
	$
	$

	Cost of repair (average)
	
	500
	100


Assume that sales of equipment are on 31 October 2007 and any warranty claims are made on 31 October in the year of the claim. Assume a risk adjusted discount rate of 4%.
Required:

Draft a report suitable for presentation to the directors of Macaljoy which:

(a)
(i)
Discuss the nature of and differences between a defined contribution plan and a defined benefit plan with specific reference to the company’s two schemes.
(7 marks)

(ii)
Shows the accounting treatment for the two Macaljoy pension plans for the year ended 31 October 2007 under HKAS 19 Employee Benefits (revised 2011).
(7 marks)

(b)
(i)
Discuss the principles involved in accounting for claims made under the above warranty provision.
(6 marks)

(ii)
Shows the accounting treatment for the above warranty provision under HKAS 37 Provisions, Contingent Liabilities and Contingent Assets for the year ended 31 October 2007.
(3 marks)

Appropriateness of the format and presentation of the report and communication of advice.


(2 marks)


(25 marks)


(Amended ACCA P2 Corporate Reporting December 2007 Q2)


42

